
 

 

��������
�	
������
	
�
�
��	��
	 � ��
������
���
�
������������  

 

�  



 
 
 

1 
 

Service Instructions 
Syntron  ��� �  Vibrator  
Model: V- 41-A1 
 
SMH Corporation reserves the right to make changes at 
any time, without any liability or other obligation on its part, 
in materials, equipment, specifications and models, and 
also to discontinue the manufacture and sale of models, 
and the parts and components thereof.  
For further detailed information contact, SMH Corporation, material handling equipment operation.  

 
Safety Instructions: Product safety labels must remain highly visible on the equipment.  Establish 
a regular schedule to check visibility.  Should safety labels require replacement contact SMH, 

Material Handling Equipment Operation for an additional supply free of charge. 
 
INTRODUCTION  
 
NOTE: The Syntron ��� � Electromechanical V-41-A1 Vibrator must be operated with a separate SMH half-
wave control. 
 
The V-41-A1 Vibrator produces a pattern of vibrations which penetrate a material mass, keeping the 
particles agitated and in a free flowing condition.  
 
NOTE: The vibrator should only be operated when the bin or chute is open to flow, otherwise the 
vibratory action will compact the contents of the hopper. 
 
INSTALLATION 
 
The V-41-A1 Vibrator is designed for mounting in any 
position except an upright horizontal position. 
 
Syntron Material Handling recommends the use of Grade 5 
mounting bolts with lockwashers. Mounting bolts must be 
frequently checked for tightness. A flat mounting surface is 
required. 
 
Before installing the vibrator, refer to figure 1 for outline 
dimensions. 
 
When installing a separate controller, refer to the wiring 
diagram in the service manual for the controller. 

 
 WARNING: The electrical power supply connection 
to the SMH-supplied controller must be made through 
a customer-supplied safety disconnect switch which 

must be mounted next to the controller. 
 
The voltage and frequency of the power supply must be the 
same as that designated on the nameplate. 



 
 
 

2 
 

 
If rigid conduit is used, provide at least 18 inches of flexible cable extending from the vibrator to the 
conduit. 
The vibrator is equipped with a 3-wire cable, one of which is an internal ground. The separate control 
box contains a ground connction which is used for the vibrator. BE CERTAIN THE CONTROL BOX IS 
PROPERLY GROUNDED TO AN EFFICIENT GROUND. 

 
CAUTION: Hopper vibrators should be operated only when the hopper is open. 
 

MAINTENANCE 
 
SMH Vibrators require little maintenance. The vibrator and controller must be kept clean and free of 
excessive moisture. 

 
WARNING: Before performing any maintenance work, the electrical power must be disconnected 
at the safety disconnect switch. 

 
”Striking” is indiacted by a loud metallic tapping noise from within the unit. If striking occurs, 
IMMEDIATELY 
DE-ENERGIZE the unit. A striking condition may be corrected by adjusting the air gap. If an adjustment 
of the air gap fails to produce the performance required, it may be necessary to replace the stop ring 
inside the vibrator. 
 
AIR GAP ADJUSTMENT 
 
The air gap is the space between the core and armature. To check the air gap, remove the plugs (F) 
from the body assembly and insert a feeler gauge. Set the static (non-running) air gap at .050 inches 
(1.27 mm) and corfirm the air gap is uniform across the face. With the vibrator running and the control 
set at 100 percent force, adjust the air gap (using screws A and B) so that the faces strike against 
a .015-inch thick (0.38 mm) feeler gauge, but do not strike against a .010-inch thick (1.25 mm) feeler 
gayge. 
 
The two hex head cap screws (A) and the two socket head cap screws (B), located on the top of the 
vibrator, are used for adjusting the air gap. The air gap is INCREASED by loosening the two socket 
head set screws and tightening the two hex head bolts so that the magnet assembly (E) is drawn away 
from the armature assembly. The air gap is DECREASED by loosening the two hex head bolts on the 
top of the vibrator. After the air gap is set, tighten the socket head set screws to lock the magnet in 
place. The adjusting bolts and screws must be turned an equal amount, a little at a time. THE FACE OF 
THE CORE ASSEMBLY MUST BE PARALLEL TO THE FACE OF THE ARMATURE. Replace the pipe 
plugs. 
 
TROUBLE SHOOTING 
 

TROUBLE CAUSE CORRECTION 
Vibrator Fails To Operate Failure In Controller Refer To Controller Service 

Manual 
Vibrator lacks Impact Worn or Damaged Impact Blocks 

 
Damaged Elastomer Spring 

See Note 2. Below 
 

Body Assembly Must Be 
Replaced. See Note 1. 

* Replace parts with those supplied, or recommended by Syntron Material Handling. 



 
 
 

3 
 

 
NOTE 1: Syntron Material Handling does not recommend field repairs to replace the stop ring, magnet 
assembly, or body assembly. Contact the Syntron Material Handling Service Department, Material 
Handling Solutions Operation, Homer City, PA. For further assistance.  
 
NOTE 2: To gain access to the impact block, de-energize the vibrator, remove the base plate. The 
impact block is secured to the base plate. 
 

PARTS LIST- MODEL V-41-A1 VIBRATORS 
 
ITEM DESCRIPTION QTY PART NO. 
 
A O-Ring 2 0149X066 
 Plainwasher (5/16”) 2 H0116810 
 Lockwasher (5/16”) 2 H0113001 
 Cap Screw, Hex Hd.  (5/16”-18 x 1-1/4”) 2 H0307401 
B Set Screw, Soc. Hd. (5/16”-18 x 3/4”) 2 h0426500 
 Sealant As Req’d 0185X012 
C Mach. Screw, Rd. Hd., Br (#10-32 x 1/4”) 1 H0202902 
 Lockwasher (#10) 1 H0112458 
 Cable Grip (Not Illustrated) 1 0102x010 
 Tape, Teflon (not Illustrated) As Req’d 0243X026 
D Body Casting 1 C-133426-A 
 *Label 1 A-125694 
 *Nameplate 1 A-133092 
E Magnet and Cable Assembly (475T16)  A-139798-A 
 Magnet and Cable Assembly (950T19)  A-139798-B  



 
 
 

4 
 

 Magnet and Cable Assembly (1900T22) 1 A-139798-C 
 Magnet and Cable Assembly (530T16) Only A-139798-D  
Parts List con’t. 
 
ITEM DESCRIPTION QTY PART NO. 
 Magnet and Cable Assembly (1060T19)  A-139798-E 
 Magnet and Cable Assembly (2120T22)  A-139798-F 
F Plug, Pipe 2 0069X057 
 Tape , Teflon As Req’d 0243X026 
G Spring (.64” Tk) (16.3 mm)  A-139784-A  
 Spring (.69” Tk) (17.5 mm)  A-139784-B 
 Spring (.75” Tk) (19.0 mm)  A-139784-C 
 Spring (.82” Tk) (20.8 mm)  A-139784-D  
 Spring (.92” Tk) (23.4 mm)  A-139784-E 
H Body Assembly 1 B-139987 
J O-Ring 1 A-140009-A 
K Impact Block, Rubber 1 A-139782 
M Shim (.005” Tk) (0.13 mm) As Req’d. A-116948-A 
 Shim (.002” Tk) (0.03 mm) As Req’d. A-116948-B 
N Cap Screw, But. Soc. Hd. (5/16”-18 x 5/8”) 1 H0441500 
 Sealant As Req’d. 0185X012 
P Base Plate 1 B-139786 
Q Cap Screw, Soc Hd. (Torque 17 ft lb) (23Nm) 6 H0418900 
 Lockwasher (5/16”) 6 H0113001 
* Do not remove or paint over safety labels. Should safety labels require replacement, contact Syntron 
Material Handling, Material Handling Solutions operation, Homer City, PA for an additional supply free 
of charge. 
 
OPERATING SPECIFICATIONS: 
Maximum Current Ratings 3.5   Amps (115V-50/60 Cy.) 
 1.75 Amps (230V-50/60 Cy.) 
  .88  Amps (460V-50/60 Cy.) 

  



 
 
 

5 
 

�

Important 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Syntron Material Handling reserves the right to alter at any time, without notice and without liability or 
other obligations on its part, materials, equipment specifications, and models.  Syntron Material 
Handling also reserves the right to discontinue the manufacture of models, parts, and components 
thereof. 

 
Your satisfaction is very important to us.  Please direct any comments, questions, or concerns to 
our Marketing Communications Department. 



   �
� � �

�
���������� 	

����
������
��� !"�
#�$��
%���

�

�$$�� &&"'�
�(
	���))'�&)*�+!���
,���� ))'�&)*�!��*�
    

 

 


����� �
'! "�-.����+��
��(�
�������
%���

�

�$$�� &&))�
�(
	���))'�&)*�+!���
,����� ))'�&)*�!�* �
#
���,����� &""� +)��&*&�
�	/
0
�	��
	1(��
1�

�������� �
2'�3
���4
����
5(�	6
(��7�$
�����
��

�	6�8
	��
5(�	6
(�%�9��	6
�%�5(�	��'�++� �
�(
	���:&)�"+�'�+''**""'�
,���� :&)�"+�'�+''*!''&�
�	/
0
�	��
	1(��
1�

�

,
�1�4
����"��";"��+�+�������	�����	�<�����

 


